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Errata

Page 5 – The last sentence of the first paragraph should read, “The CCIE candidate must pass a three-hour 

              written qualification test and a hands-on one-day lab test to become a CCIE.”

               The first and second sentences of the second paragraph should read, “The R&S written test is a 

               150 multiple-choice question closed-book exam.”, and “You have three hours to complete the 

               test.”

Page 8 – Regarding section VII. Quality of Service (QoS), the first line should read, “Fancy Queuing 

              (Priority/Custom/Weighted Fair Queuing), Packet over Sonet (PoS) and …”

Page 13 – The second bulleted paragraph should read, “When taking your test, if you can mark questions 

                 that you are unsure of, and return to those questions after you complete all 150 questions.”

Page 91 – The first sentence on the page should read, “The set vlan 101 2/20-24 command assigns ports 

                 2/20 to 2/24 to VLAN 101.”

Page 97 – Regarding Question #4, the ‘d’ is missing from the multiple choice list.  The last line of question 

                 #4 should be ‘d.  Answer a or b.’

Page 111 – The fifth paragraph should read, “The octet AC is transmitted from left to right as 00110101, 

                   the second octet (10) is transmitted from left to right as 00001000, and so on.” 

Page 144 – Regarding the heading ‘SRT’, the two bulleted items should read:

· 1, means a RIF is present, use the SRB algorithm

· 0, means a RIF is not present, the frame is transparently bridged.

Page 153 – The first sentence of the second paragraph should read, “Following the CCIE written exam 

                   blueprint, this section covers VLAN trunking, CDP, and Fast EtherChannel (FEC).”

Page 154 – The second sentence of the second paragraph should read, “The tag is 30 bytes in length 

                   (header and CRC) that is added around the FE Frame.”

                   Regarding Figure 4-31, the heading should read, ‘ISL Frame Format’.

Page 186 – Regarding Question #5, change the answers to:

a. 21

b. 0x15

c. 0x5

d. 0x1

Page 188 – Regarding Question #6, answer ‘a’, change the following command ‘dlsw bridge-group 1’ to 

                   Read,  ‘dlsw bridge-group 5’.

Page 203 – Regarding Figure 5-4, the last configuration for ‘Router A’ should read:

                   x25 map ip 172.18.1.6 34343434 broadcast
Page 279 –  Table 6-12, in the column of Subnetwork, the fourth line should be: 172.16.78.12/30 instead of 

                    172.16.78.10/30.

Page 282-283 –  There is no ' Acknowledgment Number' field in the TCP header picture as well. The right 

                     TCP header format as copied/pasted by RFC 793 - Transmission Control Protocol



TCP Header Format

                                    
    0                   1                   2                   3   
    0 1 2 3 4 5 6 7 8 9 0 1 2 3 4 5 6 7 8 9 0 1 2 3 4 5 6 7 8 9 0 1 
   +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+
   |          Source Port          |       Destination Port        |
   +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+
   |                        Sequence Number                        |
   +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+
   |                    Acknowledgment Number                      |
   +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+
   |  Data |           |U|A|P|R|S|F|                               |
   | Offset| Reserved  |R|C|S|S|Y|I|            Window             |
   |       |           |G|K|H|T|N|N|                               |
   +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+
   |           Checksum            |         Urgent Pointer        |
   +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+
   |                    Options                    |    Padding    |
   +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+
   |                             data                              |
   +-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+-+
Page 285 – The last sentence on the page should read, “The receiving station sends an acknowledgment, 

                   expecting sequence number 201 next, with the next window size sliding to 75.”

Page 311 – Question #14 should read, “How many segments are needed for a graceful close of a TCP 

                   connection?”

Page 411 – The last bulleted sentence on the page should read, ‘Arbitrary metric: single link max = 64, 

                   path max = 1023’

Page 461 – Regarding Table 9-2, the sixth row of the column ‘Class’ should be ‘Optional/non-transitive

Page 505 – Regarding question #9:

· change the ‘31’ in answers a and d to ‘15’                     

· change answer c to: access-list 10 permit 192.172.100.0  0.0.0.15
· remove the ending ‘.’ In all answers

Page 541 – Regarding Question #19, answer ‘a’ should read, “Shapes the traffic to 31,000 bytes”.

Page 602-3 – Regarding Question #6, the answer should be changed to ‘a’.  The explanation should read, 

                       “The boot field is set to 0002.  The router will follow the boot system commands.  The 

                      first command will boot the file in flash.”

                      Regarding Question #8, the answer should be changed to ‘d’.

Page 610 – Regarding Question #8, the answer should be changed to ‘d’.

Page 627 – Regarding Question #5, change answers to:

a. 21

b. 0x15

c. 0x5
d. 0x1

Answer: c

From the “source-bridge transparent 21 15 5 1” command, the virtual ring is 0x15, the pseudo-ring is 0xf, the bridge-number is 0x5a and the transparent bridge number is 0x1.

Page 630 – Regarding Question #6, answer ‘a’, change the following command ‘dlsw bridge-group 1’ to 

                   Read,  ‘dlsw bridge-group 5’.

Page 631 – Remove the last line of the explanation on this page.  There is no answer D to choose.

Page 691 – Regarding Answer #9:

· change the ‘31’ in answers a, c, and d to ‘15’

· remove the ending ‘.’ In all answers

Page 703 – Regarding Question #19, answer ‘a’ should read, “Shapes the traffic to 31,000 bytes”.

